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Math 9 BEDMAS Row Partners Activity
Instructions: The questions on the left and right have the same answers in each row. Each partner should solve

a question from one side then compare answers.

Question List #1

Answers (Should be the

same for both sides)

Question List #2

6—2x3 28 —4x2

16 + 4 — 2 2x3-62+9
(6—2)x3 81+-9+3x4
(5 +3)? 200 + (9 —4)> x 8
3:5-9-2 —81+ (54— (—7))

36+9—-8+21+3

1+3:2—-8+2

5(9—-8)-6+5—3

(9—5)2+3(10+2) +2—2

3—(—6-—6)—(3-0)

23— (43 -22-2)

2
8+5x%x2 (4)(32 - 3)
(=3)x(=2)+3 (12 — 8)(6 + 2)
(3—4x2)2—(5+ %2) —22 4 (_4)(_82_ 0) , s

3°[(7 = (=5)) + 4]

20 = 4+ {2 x 4% — (33 — 17)}

33 322422

32-23+3

7+ 5—————=—-10
+22><3—1O

(=6~ (3x-2)

(16 — (1 — 4) x —3)% — 52

(22 + 1) x 2 33 - 19
45 — 70 + 42 (20 — 2 X 3% + 49)2 — (=2)3
2(3+5) — 61 27 — (=5)2




Challenge Problems for BEDMAS

Question List #1

Answers (Should be the

same for both sides)

Question List #2

3+23[(5-1)2—1]+3}+4

4:42[(9-3)2—-1]+11-9

(8—(9—7)x2)3—(5x0+1)>2

33— (32+3) + (2)(3)

2:V2-5+15—,/(32+42) x2—-1

(¢-9x3) - ()
13
7}

N Ul

20 [5 18 7 2 - 721
3 [9X15T379% +<2)




Math 9 BEDMAS Row Partners Activity
Instructions: The questions on the left and right have the same answers in each row. Each partner should solve
a question from one side then compare answers.

Question List #1 Answers (Should be the | Question List #2
same for both sides)
6—2x%x3 0 0 23 —4x%x2
16 -4 -2 2 2 2X3—6%+9
(6—-2)x3 12 12 81+9+3x4
(5 + 3)2 64 64 200 + (9 —4)2 x 8
3:5-9-2 -3 -3 —81+(5-4—-(-7))
36+9—-8+21-+3 3 3 1+43:2—-8+2
5(9-8)-6+5—-3 32 32 (9-5)2+3(10+2)+2-2
3—(—6-—6)—(3-0) -33 -33 23— (43 -22-2)
2
8+5x2 2 2 (4)(3% —3)
(=3)x(=2)+3 (12 — 8)(6 + 2)
62 16 16 —4)(—8 — (—6
(3—4><2)2—(5+?) —22+( X 5 ( ))+24
32[(7 — (=5)) = 4] 27 27 20+-4+{2x4%2-(33-17)}
33 +32-2%+22 -1 -1 7+32—23+3 10
22x3-10
(-6)2 — (-3 x-2) 3 3 (16 — (1 —4) x —3)2 =52
(22+1)x2 33 —-19
45 — 70 4 42 6 6 (20 — 2 x 32 + 49)2 — (=2)3
2(3+4+5)—6! 27 — (—5)?




Challenge Problems for BEDMAS

Question List #1 Answers (Should be the | Question List #2
same for both sides)
3+2(3[(5—-1)2—-1]+3}+4 27 27 4.\/2[(9_3)2_1]_*_11_9
(8-(9—-7)x2)° = (5x0+1)? 3 3 2:V2:5+15—-/(32+4) x2—1
33-(3%2+3)+(2)(3)
4 2 50 50
((8—3)><%) —(%) 20 |5 18 7 2 7\ 2
— = X—=4+=-—=X 32+<—) -1
13 5 3 9 15 3 9 2
4 2




